29.10.1 BUE kA TEEADOR v REER

AN A H LRI EES IS tHasEhRe N E)
JLRG HaFL 5 | gl Aol ] AL el Rl Al sl AE (5 [ (&)
fazkl 45, 412] 109, 238] 53, 507] 55, 731 59 24 -13 60 73 37 484] 440 0 174 174
HI—TH 664f 1,434 701 733 -1 1 2 3 1 -3 2 5 2 3 1
S =T B 538| 1,325 667 658 0 1 -1 0 1 -1 5 6 3 3 0
SLIL=TH 4501 1, 047 512 535 0 1 0 1 1 1 1 0 0 0 0
SLliaEt| 1,6520 3,806 1,880 1,926 -1 3 1 4 3 -3 8 11 5 6 1
o an—T1H 482l 1,034 488 546 -1 -5 -1 0 1 -5 2 7 1 1 0
Heorn " TH 748[ 1,875 917 958 3 -5 -3 0 3 0 3 3 -2 4 6
Mo R —TH 515 1,264 629 635 1 -2 1 1 0 -7 3 10 4 5 1
g AaMNT H 370 922 452 470 1 -1 -1 0 1 1 1 0 -1 1 2
o] H 549l 1,264 620 644 2 —4 —4 0 4 -2 2 4 2 2 0
g ST H 230 521 248 273 1 1 0 0 0 2 2 0 -1 0 1
s ntTH 613 1,620 801 819 1 2 -1 1 2 0 3 3 3 6 3
g\ TH 392 927 461 466 -1 -3 -1 0 1 ~7 0 7 5 5 0
I 587| 1,449 715 734 6|  -10 -2 1 3 —4 2 6 —4 0 4
B or e | 4,486/ 10,876 5,331 5,545 1 -271 -12 3 150  -22 18 40 7 24 17
Hik R — 1 H 321 809 412 397 1 0 1 1 0 -1 1 2 0 0 0
I S = 927l 2,057 1,025 1,032 1 1 0 2 2 3 6 3 -2 1 3
6 = 662 1,490 724 766 0 0 -2 0 2 3 -1 0 1
waer naetl 1,9100 4,356 2, 161] 2,195 2 1 -1 3 4 5 15 10 -3 1 4
ek BR—TH 559| 1,268 627 641 —4 -9 0 0 0 -9 1 10 0 0 0
PSR T H 367 882 468 414 3 6 1 1 0 5 6 1 0 0 0
2 = 247 563 278 285 2 3 0 0 0 2 2 0 1 1 0
£ S N 536 1,325 679 646 1 -1 0 0 0 2 3 1 -3 0 3
s e E 1,709 4,038 2,052 1,986 2 -1 1 1 0 0 12 12 -2 1 3
T 5757) 356| 1,006 451 555 2 -3 1 1 0 0 3 3 —4 0 4
HOEE ) — 1 H 153 383 186 197 0 0 1 1 0 0 0 0 -1 0 1
HOEER) T H 403 982 473 509 1 0 0 0 0 -1 1 2 1 1 0
HOEE) =T H 656 1,699 821 878 —7 -7 -1 0 1 ~7 0 7 1 1 0
HOEESI Y T H 697 1,782 867 915 0 4 2 2 0 7 9 2 -5 0 5
HOEE) ] H 378 935 467 468 6 -2 0 2 7 0 1 1 0
HOEEH S T H 398 977 474 503 4 -1 0 1 0 0 5 5 0
HOEE I T H 645 1,475 715 760 13 6 -2 1 3 12 14 2 —4 2 6
HOEEF A 3,330[  8,233] 4,003] 4,230 11 13 -3 4 7 18 31 13 -2 10 12
PEEER| 1,468 3,072 1,436 1,636 3 -5 —4 0 4 1 13 12 -2 0 2
FHIAR 329 726 363 363 0 1 2 2 0 0 0 0 -1 0 1
Ewtlﬂy% TH 443 986 480 506 3 4 0 0 0 0 4 4 4 5 1
wtlﬂy% TH 224 480 247 233 -2 —4 0 0 0 —4 2 6 0 0 0
B =T H 479 1, 146 571 575 0 0 -1 0 1 0 4 4 1 2 1
riﬂtlﬂy%lmTa 554/ 1,218 577 641 4 8 -1 0 1 3 7 4 6 6 0
m g T H 199 521 255 266 -1 0 0 1 1 0 0 0 0 0 0
TEERD AR 1,899 4,351 2,130] 2,221 4 8 -2 1 3 -1 17 18 11 13 2
‘EE AR — T H 641 1,382 652 730 -3 -3 6 6 0 —6 2 8 -3 0 3
B AR — T H 614/ 1,319 618 701 -1 —7 -1 0 1 —4 4 8 -2 0 2
ﬁ%% ARTEE 1,265 2,701 1,270 1,431 -4 -10 5 6 1l  -10 6 16 -5 0 5
IR 318 894 496 398 -1 -3 -1 0 1 0 0 -2 1 3
HHR—TH 639 1,553 781 772 24 51 0 0 0 28 31 23 25 2
HR —TH| 1,487 3,658] 1,803| 1,855 —6 -9 2 3 1 —4 14 18 —7 4 11
HHR=TH 811 2,206 1,089 1,117 -2 —4 2 2 0 -3 5 -3 3 6
HARIT H 459 1,116 540 576 1 -2 1 1 0 —4 1 1 0
HAREAE] 3,396  8,533] 4,213 4,320 17 36 5 6 1 17 51 34 14 33 19
JeHR—"T H 608 1,494 736 758 3 9 0 1 1 5 12 4 4 0
PR —TH 831 2,159 1,066 1,093 4 7 1 1 0 1 7 5 10 5
EHIR="TH 432 958 506 452 0 -1 0 1 1 0 1 -1 0 1
bR EEH 1,871 4,611 2,308 2,303 7 15 1 3 2 6 20 14 8 14 6
H BT 323 824 391 433 1 —4 0 0 0 —4 3 7 0 0 0
WEl 1,582 5,020 2,294 2 726 6]  -21 -2 0 oAl -11 6 17 -8 2 10
P 760 1,863 924 939 0 2 2 2 0 5 5 0 -5 0 5
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A0 A H LRI EES IS tHasEhRe N E)
JLAG T 5 sl Anl ] ARl el sEE] isAl @il AE] (H) [ (—)
FYE T H 699 1,859 952 907 2 7 2 2 0 0 6 6 5 5 0
FYE =T H 623 1,582 786 796 1 2 1 2 1 0 2 2 1 2 1
FAAIEM T H 881l 2,226 1,097 1,129 -5 14 -1 1 2 -6 7 13 -7 0 7
Y E T H 559| 1,388 678 710 -1 -7 -1 1 2 -1 2 3 -5 1 6
FAIEST H 405 1, 047 502 545 -2 -9 0 0 -5 0 —4 0 4
mEaEr 3,927 9,965| 4,939 5,026 -5|  -19 3 8 5 -7 22 29  -15 8 23
s 494f 1,137 559 578 -1 -1 -1 0 1 -1 3 4 1 4 3
e —TH 320 680 328 352 3 5 0 0 0 3 4 1 2 2 0
e — T H 587| 1,378 670 708 0 3 1 2 1 —4 3 6 6 0
RN 907l 2,058 998| 1,060 3 8 1 2 1 -1 8 8 0
El—TH 291 660 312 348 6 5 0 0 0 9 99 90 —4 0 4
2 T H 635 1,392 683 709 2 8 0 1 1 10 15 5 -2 1 3
i =TH 374 973 495 478 -2 -2 —4 0 4 —4 2 6 6 6 0
EAaEt] 1,300 3,025 1,490] 1,535 6 11 —4 1 5 15 116 101 0 7 7
HHE—TH 388l 1,051 505 546 —4 -2 0 2 1 3 2 -3 0 3
HE T H 426 1,105 536 569 -1 2 0 0 1 3 2 1 2 1
s —TH 757 1,950 980 970 -2 -3 1 1 -2 3 5 -1 0 1
HEMNT H 454f 1,061 508 553 8 5 -1 0 1 4 9 5 2 3 1
HHIE LT H 734 1,693 828 865 -2 —4 -1 0 1 -1 3 4 -2 0 2
HHIESNT H 227 493 252 241 0 2 0 0 0 4 4 0 -2 0 2
HEaE| 2,986 7,353 3,609 3,744 4 -2 —4 1 5 7 25 18 -5 5 10
<HX—TH 600] 1,439 704 735 -2 -7 1 2 1 -3 4 7 -5 0 5
<HXL—TH 685 1,550 768 782 -1 -2 2 2 0 —4 5 9 0 0 0
<HX=TH 509 1,194 600 594 1 0 -2 0 2 2 4 2 0 0 0
<HXWMTH 490l 1, 106 548 558 0 -1 -3 0 3 1 4 3 1 1 0
<HXHTH 389 833 471 362 -1 -6 0 0 0 -3 3 6 -3 1 4
<X EE] 2,673 6,122] 3,091 3,031 -3 -16 -2 4 6 -7 20 27 -7 2 9
W EART—T H 760l 1,708 850 858 -2 -2 -1 1 2 —6 4 10 5 9 4
HEART T H 4270 1,103 548 555 -2 -6 -2 0 2 0 0 0 —4 0 4
PIEART A 1,187 2,811 1,398] 1,413 —4 -8 -3 1 4 —6 4 10 1 9 8
L¥E 443 862 431 431 -3 —4 2 2 0 0 6 6 -6 0 6
ok — 1 H 960][ 1,595 704 891 5 5 1 1 0 6 13 7 -2 2 4
kA 1 H 368 635 297 338 —4 -1 1 2 1 -2 2 4 0 0 0
ok A= 1 H 597|1 1,650 771 879 2 0 0 0 1 7 6 0 5 5
ks AT H 350 779 378 401 1 1 1 0 4 3 -2 3 5
gk & E 2,275 4,659] 2,150 2,509 4 3 4 1 9 29 20 —4 10 14
FRIREET H 21 61 31 30 0 0 0 0 0 1 1 0 0 0
iy 746| 1,842 888 954 11 23 1 2 1 11 13 2 11 11 0
(R E A 260 659 316 343 1 2 0 0 0 0 0 0 2 2 0
W ] — T 393 1,049 538 511 4 9 1 1 0 8 9 1 0 0 0
] T H 319 769 386 383 3 3 0 0 0 3 3 0 0 0 0
R AT 7120 1,818 924 894 7 12 1 1 0 11 12 1 0 0 0
PafE R — T H 606[ 1,356 683 673 -6  -10 -1 0 1 -7 2 9 -2 0 2
PEfEEER T H 483 1,223 579 644 2 5 0 0 0 2 4 2 3 3 0
wEEE A Er 1,089 2,579 1,262 1,317 —4 -5 -1 0 1 -5 11 1 3 2
P e [ 278 670 334 336 4 10 0 0 13 14 1 -3 0 3
IR 230 570 308 262 1 2 0 0 2 3 1 0 0 0




